Answers to 2.1 exercises
2.1 Exercise 1
1.
-26.3 kJmol-1
2.
a)
-193.5
kJmol-1
b)
2.43 g

c)
15.2 oC


3.
+11.1 kJmol-1

4.
-118 kJmol-1

5.
-56.8 kJmol-1
6.
-52.0 kJmol-1
2.1 Exercise 2
1.
a) -40 kJmol-1

b) -419 kJmol-1
c) -268.5 kJmol-1
d) +8 kJmol-1


e) -95 kJmol-1

f) -69 kJmol-1

g) -94 kJmol-1
       h) -1436 kJmol-1
2.
+390.8 kJmol-1
3.
+333.6 kJmol-1
4.
+210.5 kJmol-1

5.
+381 kJmol-1
2.1 Exercise 3
1.
a)
i)
C2H6(g) + 3½O2(g) ( 2CO2(g) + 3H2O(l)


ii)
C2H4(g) + 3O2(g) ( 2CO2(g) + 2H2O(l)



iii)
H2(g) + ½O2(g) ( H2O(l)


b)
i) -1559 kJmol-1
ii) -1409 kJmol-1
iii) -285.5 kJmol-1
2.
-152 kJmol-1

3.
-49.5 kJmol-1

4.
diborane: -2027.4 kJmol-1
benzene: -3167.9 kJmol-1
5.
-277.1 kJmol-1

6.
-126.8 kJmol-1

7.
-126 kJmol-1
8.
a) -75 kJmol-1

b) -109
 kJmol-1
c) -606 kJmol-1
